Hebrew Placement Exam: Name:

Part 1 corresponds to Hebrew 1; part 2 corresponds to Hebrew II. Students who perform
exceptionally well may be granted permission to take an additional exam which would allow
them to place out of Hebrew IIL.

Part 1

1. Vocabulary:

23 '3
b 7732
B>

2. Translate and identify as adjective (a), demonstrative (d) or participle (p):
20T 7707

mID7RT IN

3. Parse:

Stem Aspect person/num/gend Root  Conjunction
example: gal imperfect 3ms 0P Waw-consecutive
W
TJD&D
EER
P
a3
BN
4. Write in Hebrew
a. qal pft 2ms '7?.’3;')

b. qal impf lcs 171553

c. qal pft 3ms O

5. T'ranslate:

a. 132 TT;QJN g bl

b. 'ﬁmbﬂ '\\ZJN a2 igh Y]

¢ WDITID MR R WY UKD T W

4. DSINON OFFN TR ITinewnToN Ak 1373 Y



Part 2:

1. Translate the following vocabulary

A gk
oY D7
n2p | migipa
N Ny
pijgpla) WY

2. Write the following forms
a. Niphal imperf 2ms of P

b. Piel participle ms of z?DP

c. Hiphal imperative ms of 77

d. Hiphil participle ms of 20" (I-waw)
3. Parse the following forms

Stem Aspect person/gend/num Root Other
example: qal wci 3ms iij [pronoun suffixes; prep. prefixes, etc.]

TRYN
T
TR
702
ERA
Diom2
77

4. Translate the following [connected] sentences (25 points):

a. TPND COR IR UN T0Y DAY ouTn 17 1R KD pwi o mim
N3N

‘ .‘_J(ZJ'ITT" = Joshua



b O2RD TR CENAYT D3N MDY TRY 037 WY

e TTING oON DR waEY TYTTR N33 T

[ pledge my honor that I have neither given nor received verbal or written assistance during this
examination beyond that permitted by the instructor in charge
Signed:

’I"m_'['{ = the Jordan



Hebrew Il: Placement Exam Name:

1. Translate the following vocabulary (10 points):

P o Y2
il amin aNmIgh
2 =l
piob “ON

(&

. Write the following forms (10 points):
Hiphl imperf 2ms of L?CDP

b. Piel participle ms of 71’3?

‘(“;

Hiphil imperative ms of L?&".’JP

d. Hiphil participle ms of DX

o

Piel perfect 3ms of 512

3. Parse the following forms (15 points):
Stem Aspect person/gend/num Root Other
example: qal wCl 3ms LJDP [pronoun suffixes; prep. prefixes,
etc. ]
RRALY
118
ety

4. Translate the following [connected] sentences (15 points):

SO T TIRT MR MO AR 8IITTOR OUORTR DN PR moun

DTIONTUN TBR DI DTTONTUN ON) TR ND X237 TN RN
NI 3T T 20N 770N S



5§ 3
[
slee i

~ Placement Test: (note the storyline may deviate from the Biblical account, even though
vocabulary and forms are all drawn from the passage).

Translate:
"I TT VAN CITON] TUNT D DOUD O IR KT A0TTOR ORODT

7T PRI MY 27 t1aun m-‘xa TOUTTIRY TN DIDUTIR TIRD RO D N

T

PSR ARG WNT TN 17 '*:_1 NP0 I UK TRRITY oY &::1

- T e

TR 302 U "ID&’T mavin lwty N S RITTT7A0 WPQD 'DJN TRTON T?‘t\""?

ST ONYDT TN TN ST TN

0T 271 OO hony 2

T

i

0¥

]
T
i

ol — N Lo —— — — i — — - . — L— —u-u-
TN 27 TR MR TN 8D Ut m:‘? TP ST TN MR N ND T

"SI TT2D DTN RN TN DY TN TEON 2

T T -

prigivy et ig piolye

T

DTN 220 NraoT TDTTT 8 R T T".TF,

Parse these verbs:

s
lld

7 TouN
3&..7

---\-n‘-q
I

A — - "

e 1
S



Placement Test:
Translate the following passage from Psalms:

mw T R Ton M -r‘;m'*: w"n

*v-r"m lgitomt p‘rx"m:n m:r

YT TR I rDYTI0N 20 AT ek 0027

1937 DY) W7 N 292 Amnd ens

SITWIR Mo TTAR M FENTD TN DU I oibya

«W&

Parse the following verbs:
INDTA
TR
E=Yly
Translate the following passage: _ _ .
TID MPIT O 0 DR OY O°W R 1) TR U T
FATEYT NI O o9 DT TN ﬂwﬁﬂ 0797 Mm% M)
7325051 s TR EY M3 NI 0P T gy M 1A
(5280 89 M ADam M 072 by 1) k3



